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1. 5 G=(C e,a), ((® ,d), ), )
2. 10 75 54 48 90 18 22 84 63
10 H(key) = Key % 10
3. 10 Floyd
4. 10 (555, 88, 499, 58, 808, 170, 797, 275, 653, 460)
5. 10 6 12 40 16 8 14 10 Huffman
6 10 L al,a2,a3,a4,... ,an ,
al, a3,...,an, ... ,a4,a2 , T(n)=0(n)
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1 (6 )
1 9:00 2.00
2 9:50 0.50
3 10:00 0.10
4 10:50 0.20
922 (B 3




SJF

2 6
) 115 228 120 88 446 102 321 432 260 167
300 100
1 LRU
2 LRU
3 6 1/0 155 158 139 118 190 260 250
138 284 200 1 SSTF
2 SSTF
4. 6 wait signal
5 6 A C P1 P2 P3 P4 PS5 A
17 B 5 20 TO
A B C A B C
P1 5 5 9 2 1 2
P2 5 3 6 4 0 2
P3 4 0 11 4 0 5
P4 4 2 5 2 0 4
P5 4 2 4 3 1 4
A B C
2 3 3
1 T0
2 T0 P2 0
3 2 P4 0
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6. (6 )

0 1
1 0
2 1
3 1
4 0
5 1
2K
0
(¢))
(2) 5188 3199
7.0 ) PL P2
var statusl status?2 boolean;
/* P1*/
Repeat
While status2 do no-op;
Statusl = true
Statusl = false
Until flase;
/* p2*/
Repeat
While statusl do no-op;
Status2 = true
Status?2 = false
Until flase;
922 (T =AD) 5




